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FE B ih 17 16 16 32 IES 216| 194| 216| 410|XKHE 5 3 6 9
PN =] 9 6 10 16 EE IS 67 61 68| 129|3T& 0 0 0 0
i 14 12 15 27 — /iR 23 20 23 434 0 0 0 0
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EEZ-TH 94| 144 143| 287

7A=Y




5 4 =t = 3 2025/8/31
T B K HHE | B z H T B K HH | B z H) T B K w | B z b 7T B K w| B z 5
=2 X FHAEHX KFNKHX KFHaO X
K HEHT 479| 558| 576 1,134|KHH 2 2 1 3| AT &R 4 24 22 25 47| FHET 41 36 42 78
#&IN—TH 160 144 177  321|EXEH 21 18 19 37\RIR 26 22 25 47|15 43 43 48 91
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MAF 21 13 17 30( LA 18 17 18 35| Ft 38 33 41 74|85 E4TH 89| 129 124| 253
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